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c4001 C = 00000000 00000000 00000008 04008001
c4002 C = 00000000 00008000 00000000 20000041
c4003 C = 20200000 00000000 00080000 00000001
c4004 C = 02000000 00000002 00004000 00000001
c4005 C = 00000000 40000000 00004000 20000001
c4006 C = 00000000 00080000 00000000 01000003
c4007 C = 00000800 00020000 00000000 00000003
c4008 C = 00400000 00000000 00400000 00002001
c4009 C = 20000000 10000000 00080000 00000001
c4010 C = 00000100 80000000 00000200 00000001
c5001 C = 0c080000 00020000 00000000 00008001
c5002 C = 04000000 00000000 10006002 00000001
¢5003 C = 00000100 00004000 000bO00O 00000001
c5004 C = 00000000 00010000 00000404 20000801
¢5005 C = 10000000 00000004 02008002 00000001
¢5006 C = 00000000 00004040 00060400 00000001
¢5007 C = 00008000 80008000 00000000 40002001
c5008 C = 00880008 00000000 00400000 00000041
c5009 C = 02000000 00800400 20040000 00000001
¢5010 C = 00000000 00000000 05002000 00202001
¢6001 C = 00000010 00010000 08000021 00000001
¢6002 C = 00008041 02000000 00000000 01000001
¢6003 C = 00000000 00000000 80000010 00000c03
¢6004 C = 00000000 04000000 00100020 00400401
¢6005 C = 00003008 00000000 04000000 00008001
¢6006 C = 00002004 00000800 00000000 00080041

¢6007 C = 00000000 00000008 40280008 00000001
¢6008 C = 00002000 00000000 08010000 00000811
¢6009 C = 01000000 01000000 02000000 00004201
¢6010 C = 00400000 00020000 0000000c 08000001
ca001 C = cbflaecf 7b41f23d cbdd3ffc 6ee7fdd7
ca002 C = 7d5d2bdf b9b9e5bc 8ba57b5f a8e47f8b
ca003 C = fdefefa? £3b754€9 bd732471 1ca9ede?
ca004 C = ce2f7eda f4de6d29 8a7db273 7b5e2ed3
ca005 C = 5e375dde 9dafcb1f 63d7fd84 9b798e37
ca006 C = 55719fc5 6dd6ee87 cd27e0dd f5abfe77
ca007 C = f9f8b7fc 9cb96926 3ab409e7 9ddcfdaf
ca008 C = f92d4ef7 £38f0d0f 3b6de8b6 f3b6H0O8L
ca009 C = 609092cb fb5aed8c edffod78 3ebeabe?
ca010 C = 4a9ba2df 6eddf79e 50373fbd aff67435
cb001 C = 9b03b07f {7c3d6ff 9d20b96f ece95chd
cb002 C = b1bb397f 2155fdcl 6d3ff36e 2e0bfdod
cb003 C = beb92d6a befd07c7 dc98ed75 c7eb7bab
cb004 C = 74eaabbd 6bcb0b69 7db30efe e6fd98e3
cb005 C = 6fa2ece7 9f44eef eccfdd7d dd2ab4ff
cb006 C = 07c94ef3 793978df efadcc27 2f0ef889
cb007 C = 877b2af4 f6aeffdd 3fa062fb fbeb7adf
cb008 C = 577c¢8df9 32fa891b 5e¢13d0c0 75f39d9b
cb009 C = f1fa42b6 b26d165d dcbff8c6 7e779b4f
cb010 C = fc46ebaa feld6179 cbbd25ed bdd697f3
cc001 C = ff96abf8 192fcf9e fc4bf84d d79fd607
cc002 C = 0f97f6d7 856cf5f9 7laefbcf c6cd8909
cc003 C = f77ff7bb b5dec73e fc613d7c e55e2f87
cc004 C = 3ddceabc 798be904 4729fafl bf7fcctb
cc005 C = f79f57ec clbbbd2c 65dd7716 f4fdd90d
cc006 C = 762ffd2b 5d4f52d5 3c63c23e 7elf776f
cc007 C = 7753eb67 db743cdd f3787f97 b1d5e7eb
cc008 C = ded67bfd 478f6b96 62bct7d6 cf7fcf5b
cc009 C = 37a75blb bfa7d74f da49f899 9daa817d
cc010 C = 853b1f51 fd7f1df0 bfab73bd 1a73f6b9
cr001 C = 1657e594 18909248 f828022e 76f005bb



cr002 C = e7765f77 d9dc4192 0f389e07 69d99c41
cr003 C = 5bc9ef86 0b350f6¢c 94bec817 76973129
cr004 C = 824839f9 2e33ece5 1515580 4fb3d085
cr005 C = 64dc4f74 016d67a0 64589527 8e3bfe3f
cr006 C = ccbbecab 5623632f 0c41772e c¢d1514b9
cr007 C = 5b8d4ffc 09cfec28 afe99ac3 b1c29a3d
cr008 C = e83f7d03 b3950a5¢c 66ba9362 a69a38af
cr009 C = 26919fc0 6130d3c2 blcd8bcc 6b52a857
cr010 C = 38f20559 ae944b6f b56f2205 241c5cdl
cr011 C = 5f829a86 872f9d79 78d66cal 3ace0f61
cr012 C = 4894el1f 0466132f 4c9576ab 937c¢97d7
cr013 C = ¢8f93803 5f74f051 48b6f0b6 O0b13b{f05
cr014 C = b41c7ald 79eb536e 75a2d0b3 3b6cfad9
cr015 C = f5ea00d4 14fe02f9 e69f2a67 8cdc9017
cr016 C = db4875a7 00173426 29573aee 477ed379
cr017 C = 757487cc £c297d42 7ecdee63 73ff5aff
cr018 C = 9d48ffe8 af9e815f e2dd15¢c5 bc6b5f15
cr019 C = ca2blded 26e3cd49 3399c200 1c9fc431
cr020 C = 0335e3c7 bd243bdc cb13de54 26121ffb
cr021 C = f81ebadc 71b8f06f fedce730 72478c25
cr022 C = 32cbf7b4 c5685439 d811da2d 246e0689
cr023 C = 7dd3ab2d 249¢2780 30763742 674b3aa3
cr024 C = fb535f36 63325d8d f7596b04 b&226al17
cr025 C = d2ab0386 6dc52f48 17e0a919 dfclf3ed
cr026 C = ecadeach 97f47bf8 72a76a5f ef7c5345
cr027 C = f6cal8c9 953f3d1b 7dab5b791 3091d431
cr028 C = 95757a77 fdb5f098 229cf8d0 46f37fa7
cr029 C = ac88a308 85db32a8 560b5fc5 d4434057
cr030 C = add1f967 80b64695 2b08ced2 66935083
ct001 C = 008cf920 9a7df04d 2d2a990b 08b8&fec3
ct002 C = bad772b3 f0c401fc e5cf1db8 cfebd599
ct003 C = f878de38 af18a9%al 098bd8dc 9f9c5e01
ct004 C = 5d5aed4d5 004fcd1b bf37a779 bblfce2b
ct005 C = 6d89cb77 £3089¢03 1e3d7f33 8fcbcOeb
ct006 C = c3f610dd 0b738487 675cff28 e696025f
ct007 C = 2401681d e564c273 dc7c¢329d 80174fbb
ct008 C = cb24df7d ad3ee7al 8a800692 9e46a9f9
ct009 C = a99d8771 48e82e9f 44f4bb50 7494786d
ct010 C = b2c734ae 21c09a6f 36257fa3 9aec7531
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sa001 S = 00000000 00000000 00000000 00000001
sa002 S = 00000000 00000000 00000000 00000003
sa003 S = 00000000 00000000 00000000 00000007
sa004 S = 00000000 00000000 00000000 0000000f
sa005 S = 00000000 00000000 00000000 0000001f
sa006 S = 00000000 00000000 00000000 0000003f
sa007 S = 00000000 00000000 00000000 0000007
sa008 S = 00000000 00000000 00000000 000000fF
sa009 S = 00000000 00000000 00000000 000001ff
sa010 S = 00000000 00000000 00000000 000003ff
sa011 S = 00000000 00000000 00000000 000007
sa012 S = 00000000 00000000 00000000 00000fff
sa013 S = 00000000 00000000 00000000 00001fff
sa014 S = 00000000 00000000 00000000 00003fff
sa015 S = 00000000 00000000 00000000 00007
sa016 S = 00000000 00000000 00000000 0000ftt
sa017 S = 00000000 00000000 00000000 0001fttf
sa018 S = 00000000 00000000 00000000 0003ttt
sa019 S = 00000000 00000000 00000000 0007{tt
sa020 S = 00000000 00000000 00000000 00Oftttf
sa021 S = 00000000 00000000 00000000 001ftttf
sa022 S = 00000000 00000000 00000000 003ftttf
sa023 S = 00000000 00000000 00000000 007{tttf
sa024 S = 00000000 00000000 00000000 QOfffttt
sa025 S = 00000000 00000000 00000000 O1fffttf
sa026 S = 00000000 00000000 00000000 O3fffttt
sa027 S = 00000000 00000000 00000000 O7ffftt
sa028 S = 00000000 00000000 00000000 Offfffff



sa029 S = 00000000 00000000 00000000 1ffftttf
sa030 S = 00000000 00000000 00000000 3ffftttf
sa031 S = 00000000 00000000 00000000 7ttt
sa032 S = 00000000 00000000 00000000 fffft
sa033 S = 00000000 00000000 00000001 ffffft
sa034 S = 00000000 00000000 00000003 ffffft
sa035 S = 00000000 00000000 00000007 ffffft
sa036 S = 00000000 00000000 0000000f fHtff
sa037 S = 00000000 00000000 0000001f fHffff
sa038 S = 00000000 00000000 0000003f fHtfftf
sa039 S = 00000000 00000000 0000007f fHttff
sa040 S = 00000000 00000000 000000ff frtftttt
sa041 S = 00000000 00000000 0000011f frffttt
sa042 S = 00000000 00000000 000003ff frtffttt
sa043 S = 00000000 00000000 0000071f frtftttt
sa044 S = 00000000 00000000 00000ftf ffffff
sa045 S = 00000000 00000000 00001ftf fffffHf
sa046 S = 00000000 00000000 00003ftf ffffftf
sa047 S = 00000000 00000000 00007{tf ffffftf
sa048 S = 00000000 00000000 000Oftft fHffHE
sa049 S = 00000000 00000000 0001ffft fHffHE
sa050 S = 00000000 00000000 0003ftft fHfffHf
sa051 S = 00000000 00000000 0007{itt fHffHE
sa052 S = 00000000 00000000 O0Offftf
sa053 S = 00000000 00000000 O01ffftf fHf
sa054 S = 00000000 00000000 003ffftf it
sa055 S = 00000000 00000000 007t fHTf
sa056 S = 00000000 00000000 OOffffff ettt
sa057 S = 00000000 00000000 O1ffffff frerfttt
sa058 S = 00000000 00000000 O3ffffff ettt
sa059 S = 00000000 00000000 O7ffffff fHtt
sa060 S = 00000000 00000000 Offfffff frfrfttt
sa061 S = 00000000 00000000 1fHHff fHfFfHt
sa062 S = 00000000 00000000 3ftfffff fHftt
sa063 S = 00000000 00000000 7{HHHTf fHHHE
sa064 S = 00000000 00000000 frftftft i
sa065 S = 00000000 00000001 frftfttt
sa066 S = 00000000 00000003 frftftft {HffHE
sa067 S = 00000000 00000007 frftftt i
sa068 S = 00000000 0000000f frftttft fHTf
sa069 S = 00000000 0000001f frftttft fHf
sa070 S = 00000000 0000003f frftttft fHif
sa071 S = 00000000 0000007f frftttft fHif
sa072 S = 00000000 000000ff ffffffft fHf

sa073 S = 00000000 000001ff i fHeFfHt
sa074 S = 00000000 000003ff it fHerfttt
sa075 S = 00000000 000007ff it fHrfHt
sa076 S = 00000000 00000fff fHfffft fHHfHt
sa077 S = 00000000 00001fff fHfffft fHeHfHt
sa078 S = 00000000 00003fff ffffffft frHfttt
sa079 S = 00000000 00007fff it fHHHt
sa080 S = 00000000 000Offft frfttttt fHHfff
sa081 S = 00000000 OQ001ffff frfttt fHHfff
sa082 S = 00000000 0003ffff ffttttt fHfff
sa083 S = 00000000 0007{fff ittt fHHfff
sa084 S = 00000000 OO0Offfff fHft fHfffff
sa085 S = 00000000 OO1fffff fHfHfHt fHFffff
sa086 S = 00000000 O03fffff fHtt fHffff
sa087 S = 00000000 OOT{HHIf Tt fHHfff
sa088 S = 00000000 OOffftt fHfffft frertHtt
sa089 S = 00000000 O1fffHt fHfffft fHeFfHt
sa090 S = 00000000 O3ffftt it fHertHet
sa091 S = 00000000 O7ffft it fHHtHt
sa092 S = 00000000 Offftftf fHfffft frertHtt
sa093 S = 00000000 1ffftttf I fEereHet
sa094 S = 00000000 3fffttf it fEereHet
sa095 S = 00000000 7ttt i fEereHet
sa096 S = 00000000 fifffHt fHHH T
sa097 S = 00000001 It fHHHT T
sa098 S = 00000003 ittt fHHHf T
sa099 S = 00000007 it fHHHT T
sal00 S = 0000000f fHfffff fHHHT T
sal01 S = 0000001f fHfffff fHHHT T
sal02 S = 0000003f fHfffff fHHH T
sal03 S = 0000007f i fHHH T
sal04 S = 000000ff fHttHt (It fHrtHt
sal05 S = 000001ff fHHHt (I fErHt
sal06 S = 000003ff fHItHt (I fHHt
sal07 S = 000007 i (T
sal08 S = O000Offf fifft It fEereret
sal09 S = O0001fff it e fEereeet
sall0 S = 00003fff ffft (It frereeet
salll S = 00007ff it (I fEereeet
sall2 S = O00Offft fffffHr fHHHt (e
sall3 S = O0O01ffft It fHFeHt (e
salld S = O003ftft Ittt fHHHt (e
sallb S = O00T7{Ht It fHHHt (T
sall6 S = OOOffftf fHfffft fHHHf



sall7 S = OO1ffttf fHfffff fHFHf (T
sall8 S = Q03ffftf fHfffff fHFHf T
sall9 S = Q0TI It e (T
sal20 S = OQOffftt it It fFffef
sal2l S = OLfffHt fHHHf T
sal22 S = O3fffHt i T
sal23 S = OTffHT I S
sal24 S = Offfffff fHreret (Hfer fEereet
sal2b S = Ui It (e et
sal26 S = 3fffffif it (e et
sal27 S = T T ST et
sal28 S = fHIfff It T et
sal29 S = fHff T i ffttife
sal30 S = fHff T e e
sal3l S = fHIff I T e
sal32 S = il I (T o
sal33 S = fHfff I i fftfe0
sal34 S = il e (i o
sal3b S = i I i 8o
sal36 S = i T T oo
sal37 S = i T i fffffe00
sal38 S = fHff i i fifffc00
sal39 S = fHHf T T 800
sald0 S = fHHHT T T 000
saldl S = fHHHT T T fffe000
sald2 S = fHHH T T ffc000
sald3 S = fHff e it 18000
sald4 S = fHIf T T 0000
saldb S = fHIff i i fffe0000
sald6 S = fHIff i i fffc0000
sald7 S = fHf T T {80000
sald8 S = fHiffff it T Ff00000
sald9 S = fHff i T ffe00000
sal50 S = fHIf i T ffc00000
salb1 S = fHHH T Tt 300000
salb2 S = fHH T Tt f000000
salb3 S = fHf T it fe000000
salb4 S = fHHf T Tt fc000000
salbb S = fHff i fHHff 8000000
salb6 S = fHff it fHHff 0000000
sal57 S = fHif T T <0000000
salb8 S = fHHfff it fHHff c0000000
sal59 S = fHff i Tt 80000000
sal60 S = fHIf it Tt 00000000

sal6l S = fHIft ittt fitftffe 00000000
sal62 S = fHIf ittt fitfffc 00000000
sal63 S = fHIfHT i S 00000000
sal64 S = fHIfHT it {0 00000000
sal6b S = fHiftt fiffftt fitfffe0 00000000
sal66 S = fHift fiffftt fHtfffc0 00000000
sal67 S = fIHfit T {80 00000000
sal68 S = fifffitt fHfftt fHf00 00000000
sal69 S = fiHfitt it fffffe00 00000000
sal70 S = fiHfit it ffffc00 00000000
sal71 S = fHIft it {300 00000000
sal72 S = fHifit fiffft {000 00000000
sal73 S = fifffitt fiffftt ffffe000 00000000
sal74 S = fifftt it ffffc0O00 00000000
sal75 S = fHfftt ittt {8000 00000000
sal76 S = fHiftt fifft ffff0000 00000000
sal77 S = fifittt fifftft fffe0000 00000000
sal78 S = fHfiftft fiffftft fffc0000 00000000
sal79 S = fiffift it fFf80000 00000000
sal80 S = fHfffift it fFf00000 00000000
sal81 S = fififttt fifttft ffe00000 00000000
sal82 S = fififtft fiftttft ffcO0000 00000000
sal83 S = fifffift ffffftt £800000 00000000
sal84 S = fiffftft fiffftt fF000000 00000000
sal85 S = fifffttt fiffftf fe000000 00000000
sal86 S = fiffttt ittt fc000000 00000000
sal87 S = fiiftt fifftf f2000000 00000000
sal88 S = fiffftft fifftt f0000000 00000000
sal89 S = fifffitt fiffftf e0000000 00000000
sal90 S = fiffttt ittt c0O000000 00000000
sal9l S = fiiftf it 80000000 00000000
sal92 S = fififtt it 00000000 00000000
sal93 S = fifffitt fffffffe 00000000 00000000
sal94 S = fifffitt fffffffc 00000000 00000000
sal95 S = fifffift {8 00000000 00000000
sal96 S = fifftft {ffffff0 00000000 00000000
sal97 S = fiftfitt ffffffe0 00000000 00000000
sal98 S = fiftfitt ffffffcO 00000000 00000000
sal99 S = fifftff ffffff80 00000000 00000000
sa200 S = fifftft ffffff00 00000000 00000000
sa201 S = fiffftft fffffe00 00000000 00000000
sa202 S = fifftt fffffc0O0 00000000 00000000
sa203 S = fiiftf fffff8O0 00000000 00000000
sa204 S = fiittt fffff000 00000000 00000000



sa205 S = fiffffff ffffe000 00000000 00000000
sa206 S = fiffffff ffffc0O00 00000000 00000000
sa207 S = fififfff ffff8000 00000000 00000000
sa208 S = fiffffff ffff0000 00000000 00000000
sa209 S = fiffffff fffe0000 00000000 00000000
sa210 S = fiffffff fffc0000 00000000 00000000
sa211 S = fiffffff fffS0000 00000000 00000000
sa212 S = fiffffff fff00000 00000000 00000000
sa213 S = fiffffff ffe00000 00000000 00000000
sa214 S = fiffffff ffc00000 00000000 00000000
sa215 S = fiffffff ff8300000 00000000 00000000
sa216 S = fiffffff ff000000 00000000 00000000
sa217 S = fitfffff fe000000 00000000 00000000
sa218 S = fiffffff fc000000 00000000 00000000
sa219 S = fiffffff 8000000 00000000 00000000
sa220 S = fiffffff 0000000 00000000 00000000
sa221 S = fiffffff 0000000 00000000 00000000
sa222 S = fiffffff c0000000 00000000 00000000
sa223 S = fiffffff 80000000 00000000 00000000
sa224 S = fiffffff 00000000 00000000 00000000
sa225 S = fifffffe 00000000 00000000 00000000
sa226 S = ftfffffc 00000000 00000000 00000000
sa227 S = ffffff8 00000000 00000000 00000000
sa228 S = fifffff0 00000000 00000000 00000000
sa229 S = ftffffe0 00000000 00000000 00000000
sa230 S = ftffffc0 00000000 00000000 00000000
sa231 S = fifff80 00000000 00000000 00000000
sa232 S = ffffff00 00000000 00000000 00000000
sa233 S = fffffe00 00000000 00000000 00000000
sa234 S = fffffc00 00000000 00000000 00000000
sa235 S = fffff800 00000000 00000000 00000000
sa236 S = fffff000 00000000 00000000 00000000
sa237 S = {fffe000 00000000 00000000 00000000
sa238 S = ffffc000 00000000 00000000 00000000
sa239 S = ffff8000 00000000 00000000 00000000
sa240 S = {fff0000 00000000 00000000 00000000
sa241 S = fffe0000 00000000 00000000 00000000
sa242 S = fffc0000 00000000 00000000 00000000
sa243 S = fff80000 00000000 00000000 00000000
sa244 S = fff00000 00000000 00000000 00000000
sa245 S = {fe00000 00000000 00000000 00000000
sa246 S = ffc00000 00000000 00000000 00000000
sa247 S = {f800000 00000000 00000000 00000000
sa248 S = ff000000 00000000 00000000 00000000

sa249 S = fe000000 00000000 00000000 00000000
sa250 S = fc000000 00000000 00000000 00000000
sa251 S = 8000000 00000000 00000000 00000000
sa252 S = f0000000 00000000 00000000 00000000
sa253 S = 0000000 00000000 00000000 00000000
sa254 S = c0000000 00000000 00000000 00000000
sa255 S = 80000000 00000000 00000000 00000000
sb000 S = 00000000 00000000 00000000 00000002
sb001 S = 00000000 00000000 00000000 00000004
sb002 S = 00000000 00000000 00000000 00000008
sb003 S = 00000000 00000000 00000000 00000010
sb004 S = 00000000 00000000 00000000 00000020
sb005 S = 00000000 00000000 00000000 00000040
sb006 S = 00000000 00000000 00000000 00000080
sb007 S = 00000000 00000000 00000000 00000100
sb008 S = 00000000 00000000 00000000 00000200
sb009 S = 00000000 00000000 00000000 00000400
sb010 S = 00000000 00000000 00000000 00000800
sb011 S = 00000000 00000000 00000000 00001000
sb012 S = 00000000 00000000 00000000 00002000
sb013 S = 00000000 00000000 00000000 00004000
sb014 S = 00000000 00000000 00000000 00008000
sb015 S = 00000000 00000000 00000000 00010000
sb016 S = 00000000 00000000 00000000 00020000
sb017 S = 00000000 00000000 00000000 00040000
sb018 S = 00000000 00000000 00000000 00080000
sb019 S = 00000000 00000000 00000000 00100000
sb020 S = 00000000 00000000 00000000 00200000
sb021 S = 00000000 00000000 00000000 00400000
sb022 S = 00000000 00000000 00000000 00800000
sb023 S = 00000000 00000000 00000000 01000000
sb024 S = 00000000 00000000 00000000 02000000
sb025 S = 00000000 00000000 00000000 04000000
sb026 S = 00000000 00000000 00000000 08000000
sb027 S = 00000000 00000000 00000000 10000000
sb028 S = 00000000 00000000 00000000 20000000
sb029 S = 00000000 00000000 00000000 40000000
sb030 S = 00000000 00000000 00000000 80000000
sb031 S = 00000000 00000000 00000001 00000000
sb032 S = 00000000 00000000 00000002 00000000
sb033 S = 00000000 00000000 00000004 00000000
sb034 S = 00000000 00000000 00000008 00000000
sb035 S = 00000000 00000000 00000010 00000000
sb036 S = 00000000 00000000 00000020 00000000



sb037 S = 00000000 00000000 00000040 00000000
sb038 S = 00000000 00000000 00000080 00000000
sb039 S = 00000000 00000000 00000100 00000000
sb040 S = 00000000 00000000 00000200 00000000
sb041 S = 00000000 00000000 00000400 00000000
sb042 S = 00000000 00000000 00000800 00000000
sb043 S = 00000000 00000000 00001000 00000000
sb044 S = 00000000 00000000 00002000 00000000
sb045 S = 00000000 00000000 00004000 00000000
sb046 S = 00000000 00000000 00008000 00000000
sb047 S = 00000000 00000000 00010000 00000000
sb048 S = 00000000 00000000 00020000 00000000
sb049 S = 00000000 00000000 00040000 00000000
sb050 S = 00000000 00000000 00080000 00000000
sb051 S = 00000000 00000000 00100000 00000000
sb052 S = 00000000 00000000 00200000 00000000
sb053 S = 00000000 00000000 00400000 00000000
sb054 S = 00000000 00000000 00800000 00000000
sb055 S = 00000000 00000000 01000000 00000000
sb056 S = 00000000 00000000 02000000 00000000
sb057 S = 00000000 00000000 04000000 00000000
sb058 S = 00000000 00000000 08000000 00000000
sb059 S = 00000000 00000000 10000000 00000000
sb060 S = 00000000 00000000 20000000 00000000
sb061 S = 00000000 00000000 40000000 00000000
sb062 S = 00000000 00000000 80000000 00000000
sb063 S = 00000000 00000001 00000000 00000000
sb064 S = 00000000 00000002 00000000 00000000
sb065 S = 00000000 00000004 00000000 00000000
sb066 S = 00000000 00000008 00000000 00000000
sb067 S = 00000000 00000010 00000000 00000000
sb068 S = 00000000 00000020 00000000 00000000
sb069 S = 00000000 00000040 00000000 00000000
sb070 S = 00000000 00000080 00000000 00000000
sb071 S = 00000000 00000100 00000000 00000000
sb072 S = 00000000 00000200 00000000 00000000
sb073 S = 00000000 00000400 00000000 00000000
sb074 S = 00000000 00000800 00000000 00000000
sb075 S = 00000000 00001000 00000000 00000000
sb076 S = 00000000 00002000 00000000 00000000
sb077 S = 00000000 00004000 00000000 00000000
sb078 S = 00000000 00008000 00000000 00000000
sb079 S = 00000000 00010000 00000000 00000000
sb080 S = 00000000 00020000 00000000 00000000

sb081 S = 00000000 00040000 00000000 00000000
sb082 S = 00000000 00080000 00000000 00000000
sb083 S = 00000000 00100000 00000000 00000000
sb084 S = 00000000 00200000 00000000 00000000
sb085 S = 00000000 00400000 00000000 00000000
sb086 S = 00000000 00800000 00000000 00000000
sb087 S = 00000000 01000000 00000000 00000000
sb088 S = 00000000 02000000 00000000 00000000
sb089 S = 00000000 04000000 00000000 00000000
sb090 S = 00000000 08000000 00000000 00000000
sb091 S = 00000000 10000000 00000000 00000000
sb092 S = 00000000 20000000 00000000 00000000
sb093 S = 00000000 40000000 00000000 00000000
sb094 S = 00000000 80000000 00000000 00000000
sb095 S = 00000001 00000000 00000000 00000000
sb096 S = 00000002 00000000 00000000 00000000
sb097 S = 00000004 00000000 00000000 00000000
sb098 S = 00000008 00000000 00000000 00000000
sb099 S = 00000010 00000000 00000000 00000000
sb100 S = 00000020 00000000 00000000 00000000
sb101 S = 00000040 00000000 00000000 00000000
sb102 S = 00000080 00000000 00000000 00000000
sb103 S = 00000100 00000000 00000000 00000000
sb104 S = 00000200 00000000 00000000 00000000
sb105 S = 00000400 00000000 00000000 00000000
sb106 S = 00000800 00000000 00000000 00000000
sb107 S = 00001000 00000000 00000000 00000000
sb108 S = 00002000 00000000 00000000 00000000
sb109 S = 00004000 00000000 00000000 00000000
sb110 S = 00008000 00000000 00000000 00000000
sb111 S = 00010000 00000000 00000000 00000000
sb112 S = 00020000 00000000 00000000 00000000
sb113 S = 00040000 00000000 00000000 00000000
sb114 S = 00080000 00000000 00000000 00000000
sb115 S = 00100000 00000000 00000000 00000000
sb116 S = 00200000 00000000 00000000 00000000
sb117 S = 00400000 00000000 00000000 00000000
sb118 S = 00800000 00000000 00000000 00000000
sb119 S = 01000000 00000000 00000000 00000000
sb120 S = 02000000 00000000 00000000 00000000
sb121 S = 04000000 00000000 00000000 00000000
sb122 S = 08000000 00000000 00000000 00000000
sb123 S = 10000000 00000000 00000000 00000000
sb124 S = 20000000 00000000 00000000 00000000



sb125 S = 40000000 00000000 00000000 00000000
sb126 S = 80000000 00000000 00000000 00000000

sb127 S = fIft I T ffiffife
sb128 S = fIfffft I T (Hffd
sb129 S = fIfft T T (b
sb130 S = fIfffff I e (7
sb131 S = fIfffff I T fffffef
sb132 S = fiftft I et fdf
sb133 S = fifffift fHHf et bt
sb134 S = fIft I T (e
sb135 S = fIfffff I T ffffeff
sb136 S = fiftfit Il et FHfdff
sb137 S = fiftft T Tt (bt
sb138 S = fifffft I T (7t
sb139 S = fIfffff I T fffefff
sb140 S = fIftft T e SHdf
sb141 S = fIfHt I T b
sb142 S = It I T (e
sb143 S = It T T ffeffff
sb144 S = It AT T (ST
sb145 S = fIftt I T ST
sb146 S = It I T (7t
sb147 S = It T T feftf
sb148 S = fiftfift fHHHT Tt FdfHf
sb149 S = fIftt T T Shff
sb150 S = fifttt T e (7t
sb151 S = fIfffff I T feffiff
sb152 S = fiftt T et (AT
sb153 S = ittt T Tt fhfffit
sb154 S = fIft I T 7t
sb155 S = fIffftff I T effftttf
sb156 S = fiftt I et AT
sb157 S = fiftt T Tt bt
sb158 S = fiftfft Il et 7He
sb159 S = fiffftft fHtH fffffffe fHHT
sb160 S = fiftft {HHf fiftrfd T
sb161 S = fiftft T b T
sb162 S = fIfft Il 7 T
sb163 S = fiffftff fHHH ffffffef fHHT
sb164 S = fIftft I Al T
sb165 S = fiftft {HIHf bt T
sb166 S = fIfftft Tl f7e T
sb167 S = fIffft fHHHf ffffeft T
sb168 S = fifffift {HIHf et T

sb169 S = fiffffft I bt
sb170 S = fiffffff fHHff 7o T
sb171 S = fHffffff fHHHf ffefff T
sb172 S = fiffffft I A
sb173 S = fifffift I bt
sb174 S = {Hffffff Tl 7 T
sb175 S = fHffffff fHHHf ffeffft T
sb176 S = fiffffft I At
sb177 S = {iffffft I bt
sb178 S = fiffffff fHHff 7t e
sb179 S = fHffffff fHHHf fefffff fHHT
sb180 S = fffffft fHHff A
sb181 S = fiffffft fHHff bt
sb182 S = fffffff fHHff 7t T
sb183 S = fiffffff fHHHf fefffift fHHT
sb184 S = fiffffft I fAFFHE
sb185 S = fiffffft fHff ittt
sb186 S = fiffffff fHHff {7 T
sb187 S = fiffffff fHHHf efffffff frrfHet
sb188 S = ffffffft fHHff it
sb189 S = fiffffft i bt
sb190 S = fiffffff fHHff 7HHe T
sb191 S = fiffffff fiffttfe T fEHHT
sb192 S = fiffffft fHffffd et
sb193 S = fffffft fHtffifb At
sb194 S = fiffffff {7 e T
sb195 S = fiffffff fifftfef {HIFfF fEHHHE
sb196 S = fiffffft fHffdf et
sb197 S = fiffffft fHHfbf Tt
sb198 S = fiffffff {7 T T
sb199 S = fiffffff fiftfeff fHIHfF fEHHHE
sb200 S = fiffffft fHEfdff et
sb201 S = fiffffft fHffbff et
sb202 S = fiffffff fHEE7H T T
sb203 S = fifffff fiffefft fHffr fHHHE
sb204 S = fiffffft It et
sb205 S = fiffffft I et
sb206 S = fiffffff fHE7HT T T
sb207 S = fififfff fifeffff {Hfr fEHE
sb208 S = fffffft fHfdffff et (e
sb209 S = fiffffft fHb{fff et
sb210 S = fiffffff {7 (T T
sb211 S = fiffffff flefffft It fEHHTE
sb212 S = fiffffft fEAfHHf et (e



sb213 S = fiftft fIbfHf It T
sb214 S = It {7 T T
sb215 S = fiffftff feftttff I fEHeHet
sb216 S = ittt fdffffff fHFeet (T
sb217 S = it fOffffft fHreet e
sb218 S = fIfffft f7HHT T T
sb219 S = fIffft efffffff fHfr fErHet
sb220 S = fiftfft AfFfHf fHFFeE (T
sb221 S = fiffift bttt et e
sb222 S = fIfft 7 e T
sb223 S = fiffftfe fHfHHt (T fEHHT
sb224 S = fifttfd fHiT e T
sb225 S = fifttith I et T
sb226 S = {7 I (e T
sb227 S = fiffffef it T T
sb228 S = fifttfdf I It e
sb229 S = fiftftbf I fHFE T
sb230 S = fIfH7f It e T
sb231 S = fiftfeff fifHHt (I fEHHT
sb232 S = fiftfdft {Hfffff fHreet T
sb233 S = fiftfbft {Hfffff fHFt T
sb234 S = 7 it (e T
sb235 S = fiffefff it (I EHTE
sb236 S = fitdftf {Hfffff et T
sb237 S = fiftbftf {Hffff It T
sb238 S = 7l It et T
sb239 S = fifefftff fHfHHt (T HHT
sb240 S = fifdffft i fHreet T
sb241 S = fifbfift {Hfffff et T
sb242 S = {7l I i T
sb243 S = flefffff it (I EHT
sb244 S = fidffftf i e T
sb245 S = fibffftf i fHFE T
sb246 S = {7 T T T
sb247 S = feffftf it T T
sb248 S = fAffft i et T
sb249 S = fbfffift i It T
sb250 S = {7l It i T
sb251 S = efffffff it (e fEeet
sb252 S = dffffftf {Hffff et T
sb253 S = bffffftf {Hffiff fHret T
sc000 S = 456723c6 98694871 dc515cft 944a58ec
sc001 S = 456723c6 98694871 dc515cfd 944a58ec
sc002 S = 456723c6 98694875 dc515cfd 944a58ec

sc003 S = 456723c6 9869487d dc515cfd 944a58ec
sc004 S = 456723c6 9869487d dc515cfd 944a58e8
sc005 S = 456723c6 9869487d dc515cfd 944a58e0
sc006 S = 4567236 9869487d dc515cfd 944a58e8
sc007 S = 456723c6 9869487d dc515cf9 944a58e8
sc008 S = 456723c6 9869487d dc515cf9 944a58e9
sc009 S = 456723c6 9869487d dc515cfd 944a58e9
sc010 S = 085427f8 231be%ec cde7438d 0f76255a
sc011 S = 085427f8 231be%ec cde7438d 0f762552
sc012 S = 085427f8 231be%e4 cde7438d 0f762552
sc013 S = 085427f0 231be%e4 cde7438d 0f762552
sc014 S = 085427f0 231be%ed cde7438f 0f762552
sc015 S = 085427f4 231be%ed cde7438f 0f762552
sc016 S = 085427f4 231be%ed cde7438f 0f762556
sc017 S = 085427f4 231be%e0 cde7438f 0f762556
sc018 S = 085427f6 231be%e0 cde7438f 0f762556
sc019 S = 085427f6 231be%e8 cde7438f 0f762556
sc020 S = ba31e458 30a3d95a 6125895¢ b105a317
sc021 S = ba31e458 30a3d95a 6125895¢ b105a315
sc022 S = ba31e458 30a3d95a 61258958 b105a315
sc023 S = ba31e458 30a3d95a 61258959 b105a315
sc024 S = ba31e458 30a3d952 61258959 b105a315
sc025 S = ba31e458 30a3d956 61258959 b105a315
sc026 S = ba31e458 30a3d956 6125895b b105a315
sc027 S = ba31e458 30a3d956 6125895f b105a315
sc028 S = ba31e450 30a3d956 6125895f b105a315
sc029 S = ba31e450 30a3d957 6125895f b105a315
sc030 S = 24548611 c40e1d82 8748640 f521bd3d
sc031 S = 24548619 c40e1d82 8748640 f521bd3d
sc032 S = 24548619 c40e1d82 8748640 f521bd3c
sc033 S = 24548619 c40e1d82 8748640 f521bd3e
sc034 S = 24548619 c40e1d86 8748640 f521bd3e
sc035 S = 24548619 c40e1d84 8748640 f521bd3e
sc036 S = 24548619 c40e1d84 8748642 f521bd3e
sc037 S = 24548619 c40e1d84 8748642 f521bd3c
sc038 S = 24548619 c40e1d84 8748642 f521bd3d
sc039 S = 24548619 c40e1d84 8748642 f521bd35
8c040 S = 823e5f09 ¢67¢2a97 b9eadadc d36b7796
sc041 S = 823e5f09 c67¢2a96 b9eadadc d36b7796
8c042 S = 823e5f09 ¢67¢2a96 b9eadadd d36b7796
8c043 S = 823e5f09 ¢67e¢2a92 b9eadadd d36b7796
sc044 S = 823e5f09 ¢67¢2a92 b9eadadd d36b7797
sc045 S = 823e5f09 ¢67¢2a93 b9eadadd d36b7797
8c046 S = 823e5f09 c¢67¢2a9b b9eadadd d36b7797



sc047 S = 823e5f09 c67e2a9b b9eadadd d36b779f
8c048 S = 823e5f09 c67e2a9f b9eadadd d36b779f
8c049 S = 823e5f09 ¢67¢2a97 b9eadadd d36b779f
sc050 S = 8d3c&f54 89ec1bl8 7fdbad5c f902481e
sc051 S = 8d3c&f54 89ec1bl8 7fdba454 f902481e
sc052 S = 8d3c&f54 89ec1bl8 7fdbad54 9024816
sc053 S = 8d3c&f54 89ec1bl8 7fdba454 9024812
sc054 S = 8d3c&f54 89eclblc 7fdbad454 9024812
sc055 S = 8d3c&f54 89ec1bl8 7fdba454 9024812
sc056 S = 8d3c&f54 89eclbla 7fdba454 9024812
sc057 S = 8d3c&f54 89eclbla 7fdba456 9024812
sc058 S = 8d3c&f54 89eclbla 7fdba456 f9024816
sc059 S = 8d3c&f56 89eclbla 7fdba456 f9024816
8c060 S = c13cb77c c7946575 0fd815be a8618c8b
sc061 S = c13cb77c c7946575 0fd815bf a8618c8b
8c062 S = c13cb77c c794657d 0fd815bf a8618c8b
8c063 S = c13cb77c c794657c 0fd815bf a8618c8b
8c064 S = c13cb77e c794657c 0fd815bf a8618c8b
sc065 S = c13cb776 ¢794657c 0fd815bf a8618c8b
8c066 S = c13cb774 ¢794657c 0fd815bf a8618c8b
sc067 S = c13cb774 c794657¢ 0fd815bf a8618c8b
8c068 S = c13cb774 ¢794657¢ 0fd815bf a8618c83
8c069 S = c13cb774 ¢794657¢ 0fd815bf a8618c81
sc070 S = 50b37e05 5defObf7 bf0084e9 eaal8238
sc071 S = 50b37e05 5defObf7 bf0084ed eaal8238
sc072 S = 50b37e0d 5defObf7 bf0084ed eaal8238
sc073 S = 50b37e0d 5defObf7 bf0084e5 eaal8238
sc074 S = 50b37e0d 5defObf7 bf0084ed eaal8238
sc075 S = 50b37e0d 5defObf7 bf0084e5 eaal8238
sc076 S = 50b37e0d 5defObf7 bf0084ed eaal8238
sc077 S = 50b37e0d 5defObf7 bf0084ed eaal8239
sc078 S = 50b37e0d 5defObf5 bf0084ed eaal8239
sc079 S = 50b37e05 5defObf5 bf0084ed eaal8239
sc080 S = 5d233fle 9ea8471c ee7bc564 fdc52blc
sc081 S = 5d233fle 9ea8471c ee7bhc560 fdc52blc
8c082 S = 5d233fle 9ea8471c ee7bhc562 fdc52blc
8c083 S = 5d233fle 9ea8471c ee7bc566 fdc52blc
sc084 S = 5d233fle 9ea8471c ee7hc56e fdc52blc
sc085 S = 5d233fle 9ea8471c ee7hc56e fdc52ble
8c086 S = 5d233fle 9ea8471c ee7bc56e fdc52b16
sc087 S = 5d233fle 9ea84714 ee7bc56e fdc52b16
sc088 S = 5d233fle 9ea84714 ee7bc56e fdc52b17
sc089 S = 5d233fle 9ea84714 ee7bc56e fdc52b16
$c090 S = 0624call 709e1109 59dcefaa 5bd4d9a8

sc091 S = 0624cal9 709¢1109 59dcelaa 5bd4d9a8
8c092 S = 0624cal8 709¢1109 59dcelaa 5bd4d9a8
8c093 S = 0624cal8 7091101 59dcefaa 5bd4d9a8
8c094 S = 0624cal8 709¢1109 59dcefaa 5bd4d9a8
8c095 S = 0624cal8 709¢1101 59dcefaa 5bd4d9a8
sc096 S = 0624cal8 709e1101 59dcela8 5bd4d9a8
8c097 S = 0624cal8 7091101 59dce0a8 5bd4d9a0
sc098 S = 0624cal8 709e1101 59dce0a9 5bd4d9a0
sc099 S = 0624cal8 709e1101 59dcela8 5bd4d9a0
sc100 S = d447c31d 015c4fbb 0168422 011924ba
sc101 S = d447c31d 015c4fbb 0168422 011924b8
sc102 S = d447c31d 015c4fbb 0168422 011924ba
sc103 S = d447c315 015c4fbb 016f8422 011924ba
sc104 S = d447c315 015c4fbb 016f8422 011924b8
sc105 S = d447c311 015c4fbb 016f8422 011924b8
sc106 S = d447c¢310 015c4fbb 016f8422 011924b8
sc107 S = d447¢310 015c4fbb 016f8422 011924b0
sc108 S = d447¢310 015c4fb3 016f8422 011924b0
sc109 S = d447¢310 015c4fb3 016f8422 011924b1
sc110 S = 7029188 34a4821b 771355b5 2acae74f
sclll S = 702918f9 34a4821b 771355b5 2acae74f
scl12 S = 702918f9 34a4821f 771355b5 2acae74f

sc113 S = 702918f9 34a4821e 771355b5 2acae74f
scl14 S = 702918f9 34a4821e 771355b5 2acae74e
scl115 S = 702918f9 34a4821e 771355b5 2acae74c
scl116 S = 702918f9 34a4821e 771355b7 2acae74c
scl117 S = 702918f9 34a4821c 771355b7 2acae74c
scl18 S = 702918f9 34a4821d 771355b7 2acae74c
sc119 S = 702918f9 34a4821c 771355b7 2acae74c
sc120 S = 6e5f1bda 8277c5fa 4bch286¢ fd056aac

sc121 S = 6e5f1bda 8277c5f8 4bch286¢ fd056aac

sc122 S = 6e5f1bda 8277c¢5f0 4bch286¢ fd056aac

sc123 S = 6e5f1bda 8277c5f4 4bcbh286¢ fd056aac

sc124 S = 6e5f1bde 8277c5f4 4bcb286¢ fd056aac

sc125 S = 6e5f1bde 8277c5f4 4bcb286e fd056aac

sc126 S = 6e5f1bde 8277c5f0 4bcb286e fd056aac

sc127 S = 6e5f1bde 8277c5f4 4bcb286e fd056aac

sc128 S = 6e5f1bde 8277c5f4 4bcb286e fd056aad

sc129 S = 6e5f1bde 8277c5{6 4bcb286e fd056aad

sc130 S = e373173b 0904b754 29d3{f36 509412b3
sc131 S = e373173b 0904b754 29d3ff36 509412b7
scl132 S = e373173b 0904b754 29d3ff36 509412b6
sc133 S = e373173b 0904b754 29d3ff36 509412b7
scl34 S = e373173f 0904b754 29d3ff36 509412b7



scl135 S = e373173f 0904b754 29d3ff3e 509412b7
sc136 S = e373173f 0904b750 29d3ff3e 509412b7
sc137 S = e373173d 0904b750 29d3ff3e 509412b7
sc138 S = e373173d 0904b750 29d3ff3c 509412b7
sc139 S = e373173d 0904b750 29d3ff3c 509412b5
sc140 S = b5822ede b5a98ala 2c70afd4 1bb2858a
sc141 S = b5822ede b5a98ala 2c70afd5 1bb2858a
sc142 S = b5822ede b5a98ala 2c70afd4 1bb2858a
sc143 S = b5822e4a b5a98a0a 2c70afd4 1bb2858a
sc144 S = b5822ede b5a98ala 2c70afd4 1bb2858a
scl145 S = b5822ede b5a98a0b 2c70afd4 1bb2858a
sc146 S = b5822ede b5a98a0b 2¢70afd6 1bb2858a
sc147 S = b5822eda b5a98a0b 2c70afd6 1bb2858a
sc148 S = b5822e4b b5a98a0b 2c70afd6 1bb2858a
sc149 S = b5822e4b b5a98ala 2c70afd6 1bb2858a
sc150 S = f044fead 5a5bb9f3 ab8e574c 9dd7b62d
scl151 S = f044feab 5a5bb9f3 ab8e574c 9dd7b62d
sc152 S = f044fea6 5a5bb9f3 ab8e5748 9dd7b62d
sc153 S = f044fea6 5a5bb9f3 ab8e5748 9dd7b62f
sc154 S = f044fea2 5a5bb9f3 ab8e5748 9dd7b62f
sc155 S = f044fea2 5a5bb9f3 ab8e5749 9dd7b62f
sc156 S = f044fea2 5a5bb9fb ab8e5749 9dd7b62f
sc157 S = f044fea2 5a5bb9f3 ab8e5749 9dd7b62f
sc158 S = f044fea2 5a5bb9f3 ab8e574b 9dd7b62f
sc159 S = f044fea2 5a5bb9fb ab8e574b 9dd7b62f
sc160 S = 4d849e7f d42d67a9 64d4e776 6e474cde
sc161 S = 4d849e7e d42d67a9 64d4e776 Ged74cde
sc162 S = 4d849e7e d42d67a9 64d4e776 Ged74cdf
sc163 S = 4d849e7e d42d67a9 64d4e772 Ged74cdf
sc164 S = 4d849e7e d42d67a9 64d4e773 Ged74cdf
sc165 S = 4d849e7e d42d67a8 64d4e773 Ged74cdf
sc166 S = 4d849e7e d42d67a8 64d4e773 Ged74cdb
sc167 S = 4d849e7e d42d67a9 64d4e773 Ged74cdb
sc168 S = 4d849e7e d42d67al 64d4e773 Ged74cdb
sc169 S = 4d849e7c d42d67al 64d4e773 Ged74cdb
sc170 S = 856¢85fb ech24805 23042ff4 3becObOb
sc171 S = 856¢85fb ech24804 23042ff4 3becObOb
sc172 S = 856¢85fb ech24800 23042ff4 3becObOb
sc173 S = 856¢85ff ech24800 23042ff4 3becObOb
scl174 S = 856¢85ff ecb24800 23042ffc 3becObOb
scl175 S = 856¢85ff ecb24804 23042ffc 3becObOb
sc176 S = 856¢85fd ecb24804 23042ffc 3becObOb
sc177 S = 856¢85fd ecb24804 23042ffc 3becOb09
sc178 S = 856¢85fd ecb24804 23042ffc 3becOb08
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sc179 S = 856¢85fd ecb24804 23042ffe 3becOb08

sc180 S = 6867cc33 fbb74699 585039ab d2e32cl14
scl81 S = 6867cc33 fbb74699 585039a9 d2e32c14
sc182 S = 6867cc33 fbb74698 585039a9 d2e32c14
sc183 S = 6867cc33 fbb74698 585039a9 d2e32clc
scl84 S = 6867cc33 fbb74698 585039ad d2e32clc
sc185 S = 6867cc33 fbb74699 585039ad d2e32clc
sc186 S = 6867cc33 fbb74699 585039ad d2e32c18
sc187 S = 6867cc32 fbb74699 585039ad d2e32c18
sc188 S = 6867cc32 fbb74698 585039ad d2e32¢18
sc189 S = 6867cc32 fbb74698 585039ad d2e32clc
sc190 S = b1056394 0401d9be clbdacbc 85446e7c
sc191 S = b1056394 0401d9be clbdacbe 85446e7c
sc192 S = b1056394 0401d9be clbdacbe 85446e7e
sc193 S = b1056394 0401d9be clbdacbe 85446e7a
sc194 S = b1056394 0401d9b6 clbdacbe 85446e7a
sc195 S = b1056394 0401d9b6 clbdacbf 85446e7a
sc196 S = b1056390 0401d9b6 clbdacbf 85446e7a
sc197 S = b1056390 0401d9b6 clbdacbb 85446Ge7a
sc198 S = b1056390 0401d9b6 clbdacbb 85446e7e
sc199 S = b1056390 0401d9b6 clbdacbb 85446e7a
sc200 S = 714c517e 1b51cf21 abb36b48 63848b53
sc201 S = 714c517f 1b51cf21 abb36b48 63848b53
sc202 S = 714c517f 1b51cf21 abb36b48 63848b5b
sc203 S = 714c517f 1b51cf23 abb36b48 63848b5b
sc204 S = 714c¢517d 1b51cf23 abb36b48 63848b5b
sc205 S = 714c517c 1b51cf23 abb36b48 63848b5b
sc206 S = 714c517c 1b51cf27 abb36b48 63848b5b
sc207 S = 714c517c 1b51cf27 abb36b40 63848b5b
sc208 S = 714c517c 1b51cf27 abb36b41 63848b5b
sc209 S = 714c517¢ 1b51cf27 abb36b41 63848b5f
sc210 S = f49b46bc 8de9c3e5 36258ecf 42088df7

sc211 S = f49b46bc 8de9c3e5 36258ecf 42088df3

sc212 S = f49b46bc 8de9c3e5 36258ech 42088df3

sc213 S = f49b46bc 8de9c3e5 36258ec3 42088df3

sc214 S = f49b46bc 8de9c3e5 36258ec3 42088df2

sc215 S = f49b46bc 8de9c3el 36258ec3 42088df2

sc216 S = f49b46bc 8de9c3el 36258ec7 42088df2

sc217 S = f49b46bc 8de9c3e5 36258ec7 42088df2

sc218 S = f49b46bc 8de9c3e5 36258ec6 42088df2

sc219 S = f49b46be 8de9c3e5 36258ec6 42088df2

sc220 S = f5fad054 09d83735 b4e8bcd4 71664a83
sc221 S = f5fad055 09d83735 b4e8bcd4 71664a83
sc222 S = f5fad055 09d83735 b4e8bcd6 71664a83



sc223 S = f5fad055 09d83734 b4e8bcd6 71664a83
sc224 S = f5fad05d 09d83734 b4e8bcd6 71664a83
sc225 S = f5fad05d 09d83734 b4e8bcd6 71664a81
sc226 S = f5fad05d 09d83734 b4e8bcd6 71664a83
sc227 S = f5fad05d 09d83734 b4e8bcd6 71664a82
sc228 S = f5fad05d 09d83734 b4e8bcd2 71664a82
sc229 S = f5fad059 09d83734 b4e8bcd2 71664a82
sc230 S = b73fb460 b6801329 7044e2de 947cdfab
sc231 S = b73fb460 b6801329 7044e2da 947cdfab
sc232 S = b73fb460 b6801329 7044e2d2 947cdfab
sc233 S = b73fb460 b6801329 7044e2d0 947cdfab
sc234 S = b73fb460 b6801329 7044e2d8 947cdfab
sc235 S = b73fb460 b6801329 7044e2da 947cdfab
sc236 S = b73fb460 b680132b 7044e2da 947cdfab
sc237 S = b73fb460 b680132a 7044e2da 947cdfab
sc238 S = b73fb464 b680132a 7044e2da 947cdfab
sc239 S = b73fb466 b680132a 7044e2da 947cdfab
8c240 S = ac8008ec bd177fed b88576f1 2b8c5308
sc241 S = ac8008ec bd177fed b88576f1 2b8&c530a
sc242 S = ac8008ec bd177fed b88576f1 2b&c530b
8c243 S = ac8008ec bd177fed b88576f0 2b&c530b
sc244 S = ac8008ec bd177fec b88576f0 2b&c530b
sc245 S = ac8008ec bd177fe8 b88576f0 2b&c530b
8c246 S = ac8008ec bd177fe8 b88576f0 2b8&c530a
8c247 S = ac8008ec bd177fe8 b88576f4 2b8&c530a
8c248 S = ac8008ec bd177fe8 b88576f4 2b8c5308
sc249 S = ac8008e4 bd177fe8 b&88576f4 2b&c5308
sc250 S = 60634 1af 06624db8 278366b4 0b69172f
sc251 S = 60634 1af 06624db8 278366b4 0b691727
sc252 S = 606341af 06624db0 278366b4 0b691727
sc253 S = 60634 1af 06624db8 278366b4 0b691727
sc254 S = 606341ab 06624db8 278366b4 0b691727
sc255 S = 606341a3 06624db8 278366b4 0b691727
sc256 S = 606341a3 06624db9 278366b4 0b691727
sc257 S = 606341ab 06624db9 278366b4 0b691727
sc258 S = 606341a3 06624db9 278366b4 0b691727
sc259 S = 606341a3 06624db8 278366b4 0b691727
sc260 S = d76d8d11 8e346f2d d38dcOee bb4fd089
sc261 S = d76d8d11 8e346f29 d38dcOee bb4fd089
sc262 S = d76d8d11 8e346f29 d38dcOee bb4fd081
sc263 S = d76d8d11 8e346f2b d38dcOee bb4fd081
sc264 S = d76d8d11 8e346f2b d38dcOec bb4fd081
sc265 S = d76d8d11 8e346f2b d38dc0ed4 bb4fd081
sc266 S = d76d8d11 8e346f2b d38dc0ed4 bb4fd080
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8c267 S = d76d8d11 8e346f2a d38dcOe4 bb4fd080
8c268 S = d76d8d19 8e346f2a d38dcOe4 bb4fd080
8c269 S = d76d8d19 8e346f2a d38dcOe4 bb4fd088
sc270 S = 80d869ed 61967112 e7ec2544 86392302
sc271 S = 80d869ed 61967112 e7ec2544 86392300
sc272 S = 80d869e9 61967f12 e7ec2544 86392300
sc273 S = 80d869e9 61967112 e7ec2544 86392301
sc274 S = 80d869eb 61967112 e7ec2544 86392301
sc275 S = 80d869eb 61967112 e7ec2544 86392309
8c276 S = 80d869e9 61967112 e7ec2544 86392309
sc277 S = 80d869e9 61967f12 e7ec2546 86392309
sc278 S = 80d869e9 6196710 e7ec2546 86392309
8c279 S = 80d869ed 61967110 e7ec2546 86392309
8c280 S = a7c1d6f4 091fae95 4deaab980 8fcab26¢

8c281 S = a7c1d6f4 091fae91 4eaab980 8fcab26¢

8c282 S = a7c1d6f5 091fae91 4eaab980 8fcab26¢

8c283 S = a7c1d6f5 091fae9l 4deaab982 8fcab26¢

8c284 S = a7c1d6fl 091fae91 4eaab982 8fcab26¢

8c285 S = a7c1d6fl 091fae91 deaab982 8fca626d

8c286 S = a7c1d6fl 091fae95 deaab982 8fca626d

8c287 S = a7c1d6fl 091fae94 deaab982 8fca626d

8c288 S = a7c1d6fl 091fae94 4eaab982 &fca6269

8¢289 S = a7c1d6fl 091fae90 4eaab982 &fca6269

8c290 S = 83f202b4 9da8ecce 489972b2 c4c2a137
sc291 S = 83f202b4 9da8ecce 489972ba c4c2a137
8c292 S = 83f202b5 9da8ecce 489972ba c4c2a137
8c293 S = 83f202b5 9da8ecce 489972b2 c4c2a137
sc294 S = 83f202b5 9da8ecce 489972b2 c4c2al35
8c295 S = 83f202b5 9da8ecce 489972b0 c4c2al35
8c296 S = 83f202b5 9da8ecce 489972b8 c4c2al35
8c297 S = 83f202b5 9da8ecce 489972bc c4c2al35
8c298 S = 83f202b5 9da8ecce 489972bc c4c2al3l
8c299 S = 83f202bd 9da8ecce 489972bc c4c2al3l
8c300 S = 6e28c2da ef4c20d7 3f6al811 1ded3cd2
8c301 S = 6e28c2d8 ef4c20d7 3f6a1811 1ded3cd2
8c302 S = 6e28c2d8 ef4c20d7 3f6a1810 1ded3cd2
8c303 S = 6e28c2d8 ef4c20d7 3f6a1810 1ded3cdO
8c304 S = 6e28c2d0 ef4c20d7 3f6a1810 1ded3cdO
8c305 S = 6e28c2d0 ef4c20d3 3f6a1810 1ded3cdO
8c306 S = 6e28c2d0 ef4c20d3 3f6a1814 1ded3cd0
8¢307 S = 6e28c2d4 ef4c20d3 3f6a1814 1ded3cdO
8c308 S = 6e28c2d4 ef4c20d3 3f6a1815 1ded3cdO
8c309 S = 6e28c2d5 ef4c20d3 3f6a1815 1ded3cdO
sc310 S = abd154fe dbe42dd9 8fcd3edl 5da3al9l



sc311 S = abd154fc dbe42dd9 8fcd3edl 5da3alol
sc312 S = abd154fc dbed42dd9 8fcd3ed4l 5da3al99
sc313 S = abd154fc dbed42dd9 8fcd3e43 5da3al199
sc314 S = abd154fc dbed2ddd 8fcd3e43 5da3al99
sc315 S = abd154fc dbed2ddd 8fcd3e41 5da3al99
sc316 S = abd154fe dbed2ddd 8fcd3e41 5da3al99
sc317 S = abdl154fe dbed2ddd 8fcd3e49 5da3al99

sc318 S = abd154fe dbed2dd5
sc319 S = abdl154fe dbed2dd5
sc320 S = 41158102 6587fa61
sc321 S = 41158102 6587fa61
sc322 S = 41158102 6587fa61
sc323 S = 41158100 6587fa61
sc324 S = 41158100 6587fa61
sc325 S = 41158100 6587fa61
sc326 S = 41158100 6587fa61
sc327 S = 41158100 6587fa65
sc328 S = 41158100 6587fa61
sc329 S = 41158100 6587fa69

8fcd3e49 5da3al99
8fcd3e49 5da3al9d
a67c6613 b662699c
a67c6613 b662699d
a67c¢6613 b6626999
a67c¢6613 b6626999
a67c¢6611 b6626999
a67c¢6611 b662699b
a67c¢6611 b6626999
a67c¢6611 b6626999
a67c¢6611 b6626999
a67c¢6611 b6626999

$¢330 S = ec4925cf c971284b 27ce9832 d275eca?
sc331 S = ec4925cf ¢971284b 27ce9832 d275eca3
8¢332 S = ec4925cf c971284b 27ce9832 d275eca?
8c333 S = ec4925cf ¢971284b 27ce9832 d275eca3
8c334 S = ec4925cf ¢971284b 27ce9832 d275eca2
8¢335 S = ec4925cf c971284b 27ce9832 d275ecaa
8¢336 S = ec4925cd c971284b 27ce9832 d275ecaa
8¢337 S = ec4925cd c971284b 27¢ce9832 d275eca2
8¢338 S = ec4925cd c971284b 27ce9832 d275ecal
8¢339 S = ec4925cd c971284b 27ce9832 d275eca2
8c340 S = 51fee2c3 bd9bab67 9dbf5d0d aaedfe88
sc341 S = 51fee2c3 bd9bab67 9dbf5d09 aae9fe88
sc342 S = 51fee2c3 bd9ba563 9dbf5d09 aae9fe88

sc343 S = 51fee2c3 bd9bab61
sc344 S = 51fee2c3 bd9bab61
sc345 S = 51fee2c3 bd9bab61
8c346 S = 51fee2c2 bd9bab61
8c347 S = 51fee2c2 bd9bab61
8c348 S = 51fee2c2 bd9bab61
8c349 S = 51fee2c2 bd9bab61
sc350 S = 0dad743c 100263f4
sc351 S = 0dad743c 100263f4
sc352 S = 0dad743e 100263f4
sc353 S = 0dad743e 100263f4
sc354 S = 0dad743e 100263f4

9dbf5d09 aaedfe88
9dbf5d09 aae9fel8a
9dbf5d09 aae9fe8b
9dbf5d09 aae9fe8b
9dbf5d09 aaedfedf
9dbf5d01 aaedfedf
9dbf5d09 aaedfedf
11b200ed 90729817
11b200ed 9072981f
11b200ed 9072981f
11b200ef 9072981f
11b200ef 9072981e
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sc355 5 = 0da4743f 100263f4 11b200ef 9072981e
sc356 5 = 0da47437 100263f4 11b200ef 9072981e
sc357 5 = 0da47437 100263f4 11b200ef 90729816
sc358 5 = 0da47437 100263f4 11b200e7 90729816
sc359 5 = 0da47435 100263f4 11b200e7 90729816
s¢360 5 = 2650de5b fel7b29f 6b8ed3d4 5e98e508
sc361 S5 = 2650de53 fel7b29f 6b8ed3d4 5e98e508
sc362 S5 = 2650de53 fel7b29f 6b8ed3d6 5e98e508
sc363 5 = 2650de53 fel7b29e 6b8ed3d6 5e98e508
sc364 5 = 2650de53 fel7b296 6b8ed3d6 5e98e508
sc365 5 = 2650de51 fel7b296 6b8ed3d6 5e98e508
sc366 5 = 2650de51 fel7b292 6b8ed3d6 5e98e508
sc367 5 = 2650de59 fel7b292 6b8ed3d6 5e98e508
sc368 5 = 2650de59 fel7b29%a 6b8ed3d6 5e98e508
sc369 5 = 2650de59 fel7b292 6b8ed3d6 5e98e508

8c370 S = d60eadd5
sc371 S = d60eadd5
sc372 S = d60eadd5
sc373 S = d60eadd5
sc374 S = d60eaddl
sc375 S = d60eadd5
8c376 S = d60eadd5
sc377 S = d60eadd5
sc378 S = d60eadd5
8c379 S = d60eadd5
$¢380 S = 7402blce
sc381 S = 7402blce

36981401 28d695e5 abf2fed?2
36981401 28d695e5 abf2fed0
36981405 28d695e5 abf2fed0
36981405 28d695e7 abf2fed0
36981405 28d695e7 abf2fed0
36981405 28d695e7 abf2fed0
36981407 28d695e7 abf2fed0
36981403 28d695e7 abf2fed0
36981401 28d695e7 abf2fed0
36981409 28d695e7 abf2fed0
e6b94363 85c¢96d8a 361f6770
e6b94363 85c¢96d8e 3616770

sc382 5 = 7402blcf e6b94363 85c¢96d8e 361f6770
sc383 5 = 7402blcf e6b94363 85c¢96d8a 3616770
sc384 5 = 7402blcd e6b94363 85c96d8a 3616770
sc385 5 = 7402b1c9 e6b94363 85c96d8a 3616770
sc386 5 = 7402b1c9 e6b9436b 85c96d8a 3616770
sc387 5 = 7402b1c9 e6b94369 85c96d8a 3616770
sc388 5 = 7402blcl e6b94369 85c96d8a 3616770
sc389 5 = 7402blc3 e6b94369 85c96d8a 3616770
sc390 5 = 09073d0d 41d8e0fc 328bbc16 98c2d4al
sc391 S = 09073d0d 41d8e0fc 328bbcl6 98c2d4a9
sc392 5 = 09073d0d 41d8e0fc 328bbcle 98c2d4a9
sc393 S = 09073d0d 41d8e0fc 328bbcla 98c2d4a9
sc394 5 = 09073d09 41d8e0fc 328bbcla 98c2d4a9
sc395 5 = 09073d08 41d8e0fc 328bbcla 98c2d4a9
sc396 5 = 09073d08 41d8e0fc 328bbc12 98c2d4a9
sc397 5 = 09073d08 41d8elfe 328bbc12 98c2d4a9
sc398 5 = 09073d08 41d8e0fe 328bbc12 98c2d4ab



sc399 S = 09073d08 41d8elfe 328bbc10 98c2d4ab
sc400 S = 62554ed1 ed6c9b33 fbdd62c2 d7bc7ef5
sc401 S = 62554ed1 ed6c9b33 fbdd62c6 d7bc7efs
sc402 S = 62554ed9 ed6c9b33 fhdd62c6 d7bc7efs
sc403 S = 62554ed9 ed6c9b33 fbdd62c6 d7bcTefd
sc404 S = 62554ed9 ed6cIb33 fbdd62c6 d7bc7eff
sc405 S = 62554ed9 ed6cIb32 fbdd62c6 d7bc7eff
sc406 S = 62554ed9 ed6c9b32 fbdd62ce d7bc7eff
sc407 S = 62554ed9 ed6c9b32 fbdd62ce d7bc7efb
sc408 S = 62554ed9 ed6c9b3a fbdd62ce d7bc7efb
sc409 S = 62554ed9 ed6cIb3a fbdd62cc d7bc7efb
sc410 S = cdad45a4d 1a81fc88 cflccab3 2dlab7e6
sc411 S = cdad5add 1a81fc88 cflccab3 2dlab7e2
sc412 S = cdad5add 1a81fc89 cflccab3 2dlab7e2

sc413 S = cdad5add 1a81fc89 cflccab2 2dlab7e2
sc414 S = cdad5add 1a81fc81 cflccab2 2dlab7e2
sc415 S = cdad45add 1a81fc81 cflccab2 2dlab7e0
sc416 S = cdad5a49 1a81fc81 cflccab2 2dlab7e0
sc417 S = cdad5a49 1a81fc80 cflccab2 2dlab7e0
sc418 S = cdad5a49 1a81fc81 cflccab2 2dlab7e0
sc419 S = cdad5a49 1a81fc81 cflccab2 2dlab7e8

sc420 S = 196ab968 dcf3965¢ 0446306 5647582b
scd21 S = 196ab96¢ dcf3965¢ 0446f306 5647582b
scd22 S = 196ab96e dcf3965¢ 0446f306 5647582b
sc423 S = 196ab96e dcf3965¢ 0446f302 5647582b
scd24 S = 196ab96e dcf3965¢ 04461302 56475823
scd25 S = 196ab96e dcf39658 0446302 56475823
sc426 S = 196ab966 dcf39658 0446302 56475823
sc427 S = 196ab966 dcf39658 0446302 56475822
sc428 S = 196ab966 dcf3965¢c 0446302 56475822
sc429 S = 196ab966 dcf39654 0446302 56475822
sc430 S = fac08454 ad2a26ab c8ba9146 3989116
sc431 S = fac08450 ad2a26ab c8ba9146 3989116
sc432 S = fac08454 ad2a26ab c8ba9146 3989116
sc433 S = fac08454 ad2a26ab c8ba9146 39f891fe
sc434 S = fac08456 ad2a26ab c8ba9146 39f891fe
sc435 S = fac08457 ad2a26ab c¢8ba9146 39f891fe
8c436 S = fac08457 ad2a26ab c8ba9l4e 39f891fe
8c437 S = fac08456 ad2a26ab c8ba9l4e 39f891fe
sc438 S = fac08456 ad2a26ab c8badlde 39f891ff

8c439 S = fac08456 ad2a26af c8bad14e 39f891ff

sc440 S = caladeab cf4d1031 a6b55c5b dc03bcal
sc441 S = caladeab cf4d1035 a6b55c5b dc03bcal
sc442 S = caladeab cf4d1035 a6b55c¢53 dc03bcal

sc443 S = caladeab cf4d1035 a6b55c51 dc03bcal
sc444 S = caladeab cf4d1035 a6b55c¢53 dc03bcal
sc445 S = caladead cf4d1035 a6b55c¢53 dc03bcal
sc446 S = caladeab cf4d1035 a6b55c¢53 dc03bcal
sc447 S = caladeab cf4d1035 a6b55c53 dc03bcal
sc448 S = caladeab cf4d1035 a6b55c¢57 dc03bcal
sc449 S = caladeab cf4d1035 a6b55c55 dc03bcal
sc450 S = 4870ed4c 0d9ced86 35eac70f de9897fa
sc451 S = 4870ed4d 0d9ced86 35eac70f de9897fa
sc452 S = 4870ed4d 0d9ced86 35eac707 de9897fa
sc453 S = 4870ed4f 0d9ced86 35eac707 de9897fa
sc454 S = 4870ed4f 0d9ced8e 35eac707 de9897fa
sc455 S = 4870ed4f 0d9ced8e 35eac707 de9897fe
sc456 S = 4870ed4f 0d9ced8e 35eac703 de9897fe
sc457 S = 4870ed4f 0d9ced8e 35eac702 de9897fe
sc458 S = 4870ed4f 0d9ce48f 35eac702 de9897fe
sc459 S = 4870ed4f 0d9ce48d 35eac702 de9897fe
sc460 S = 6bdb4250 93c26dff 2f5da209 655a172a
sc461 S = 6bdb4250 93c26dff 2f5da209 655a172¢
sc462 S = 6bdb4250 93c26df7 2f5da209 655a172e
sc463 S = 6bdb4250 93c26df7 2f5da209 655a1726
sc464 S = 6bdb4250 93c26dff 2f5da209 655a1726
sc465 S = 6bdb4258 93c26dff 2f5da209 655a1726
sc466 S = 6bdb4258 93c26dff 2f5da201 655a1726
sc467 S = 6bdb4258 93c26dff 2f5da200 655a1726
sc468 S = 6bdb425¢ 93c26dff 2f5da200 65521726
sc469 S = 6bdb425c 93c26dfd 2f5da200 655a1726
sc470 S = 14633132 4b234ede ebcedb76 fI5b6677
scd471 S = 14633132 4b234eda e6cedb76 {f5b6677
scd72 S = 14633132 4b234eda e6cedb74 ff5b6677
scd473 S = 14633132 4b234e48 e6cedb74 {f5b6677
scd474 S = 14633132 4b234e48 ebcedb74 fI5b667f
sc475 S = 14633132 4b234e49 ebcedb74 fI5b667f
sc476 S = 14633132 4b234edd e6ecedb74 fI5b667f
sc477 S = 14633132 4b234edf e6ecedb74 fI5b667F
sc478 S = 14633132 4b234edf ebecedb7c fI5b667f
sc479 S = 14633132 4b234e47 e6cedb7c fI5b667f
$c480 S = 3580c8fd c6dc3f62 ee9c56d7 7f195chb0
sc481 S = 3580c8&fd c6dc3f62 ee9c56d7 7f195ch2
8c482 S = 3580c8fd c6dc3f62 ee9c56d3 7f195ch2
8c483 S = 3580c8fd c6dc3f62 ee9c56db 7f195cb2
sc484 S = 3580c8fd c6dc3f62 ee9c56d9 7f195ch2
8c485 S = 3580c8fd c6dc3f62 ee9c56d9 7f195¢cb3
8c486 S = 3580c8fd c6dc3f62 ee9c56d9 7f195cbb



8c487 S = 3580c8&f5 ¢6dc3f62 ee9c56d9 7f195cbb

8c488 S = 3580c8&f5 ¢6dc3f62 ee9c56d9 7f195¢ch9

8c489 S = 3580c8&f5 ¢6dc3f62 ee9c56d9 7f195cb1

sc490 S = 2dc0685a ae31240d a87b0a9%¢ 86362aed
TOYOCRYPT-HS1OODOODOOOODODOOOODODO
O000000000o00oooooooo (100x1000)
oo oooboobooubooon
gooooobooooood
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